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R =T Tam 0.29 0.28 0.31 0.30 0.30 0.28 0.30 0.32 0.30
asmatéj:g’@??fﬁ’%)ﬂ (E54) 50cm 0.31 0.32 0.33 0.30 0.31 0.32 0.31 0.33 0.31
ER 50cm 0.09 0.09 0.10 0.09 0.10 0.10 0.09 0.09 0.09
BEOLE Tam 0.14 0.12 0.13 0.13 0.13 0.13 0.13 0.14 0.14
EEE TS CRIEE Y I — (E5%) 50cm 0.15 0.14 0.14 0.15 0.13 0.14 0.14 0.14 0.13
ER 50cm 0.08 0.09 0.09 0.08 0.08 0.08 0.09 0.08 0.08
ERRETE CREEY I — BN Tam 0.16 0.17 0.17 0.17 0.16 0.17 0.18 0.17
) . BN 50cm 0.08 0.08 0.08 0.07 0.07 0.08 0.08 0.09 0.08
PEP Kids Koriyama EET) 50cm 0.14 0.12 0.15 0.13 0.13 0.15 0.13 0.13 0.12
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U =T am 0.26 0.25 0.26 0.24 0.27 0.28 0.30 0.27 0.30
asmatéj:g’@??fﬁ’%)ﬂ (=20 50cm 0.26 0.26 0.27 0.25 0.29 0.29 0.31 0.29 0.32
ER 50cm 0.10 0.09 0.09 0.09 0.09 0.09 0.09 0.09 0.10
BEOLE Tam 0.10 0.17 0.11 0.10 0.11 0.11 0.11 0.11 0.11
EEE TS CRIEE Y I — (E5%) 50cm 0.11 0.11 0.12 0.12 0.12 0.12 0.12 0.12 0.13
ER 50cm 0.07 0.07 0.08 0.08 0.08 0.07 0.09 0.08 0.07
ERRETE (XTI — BN Tam 0.13 0.14 0.12 0.13 0.14 0.13 0.14 0.14 0.14
) . BN 50cm 0.08 0.08 0.08 0.08 0.07 0.07 0.08
PEP Kids Koriyama FEaE] Soam 0.10 0.13 0.13 0.14 0.14 0.15 0.14
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I =T am 0.26 0.25 0.24 0.27 0.27
BLmC Lba<ELY Y (251) 50c 0.28 0.25 0.25 0.28 0.29
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ER 50cm 0.09 0.09 0.09 0.09 0.09
BEOLE Tam 0.11 0.17 0.11 0.11 0.11
EEE TS CRIEE Y I — (E5%) 50cm 0.11 0.11 0.11 0.12 0.12
ER 50cm 0.08 0.09 0.07 0.09 0.07
ERRETE (BT I — BN Tam 0.14 0.13 0.12 0.14 0.12
) . BN 50cm 0.08 0.09 0.08 0.08 0.08
PEP Kids Koriyama EET) 50cm 0.14 0.10 0.1 0.1 0.12




